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OZZ&X LI2AHEH &Y 2
70,000& ~ 12& 840
OZZSX L2AdH CIHY AEZ
70,000& ~ 12& 840
OZdEsXl Mz 300,000& = 123 3,600
OZEZSK s &= 25,0008 * 128 300
OMEHSK AIEd2 KXl
5,000,000& * 14! 5,000
03 A2 Z Hl 2,000 2,000 0
OMEIME A& N 2,000,000& = 14! 2,000
206 M= Hl 28,200 10,000 18,200
01 M= bl 28,200 10,000 18,200
ORI, 22, 22 S
5,000,000& * 14! 5,000
o&t & sX el 2N +<
3,000,000 = 14 3,000
OBX +2228 2+2AFMN 7Y
1,000 = 5,100& * 23| 10,200
OseHg 228 Mz 7¢
1,000,000 = 14 1,000
OHlz=g 3,000,000& * 14l 3,000
OMEHSA Ald=22el ZH 7
3,000,000 * 14 3,000
OMEI&X HMEg2d =2
3,000,000& * 14 3,000
301 gEtE 4= 15,940 4,800 11,140
09 SALAHIEA S 15,940 4,800 11,140
OMHIUBHHEE 2 49,5008 * 20¥ * 63 5,940
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AR BILTAMYEE SN SMEAD
M MESAEA
SCHEREE CERED
= - — SHE|
MR 2N FB-BA(E) - MRAY - BAS 0l &F 24 e Hl D= 2t
OzZSXN=J MY OIS d8X A
10,000,000 * 14 10,000
401 Al& Bl 28I 50,000 0 50,000
01 A& HI 48,000 0 48,000
OZZEIAHSA =HEZH FHAY
48,000,000& = 14! 48,000
03 AlE 2 THHI 2,000 0 2,000
OZJEIANASK =HEH FHIAMY AIERH
i 2,000,000& * 14 2,000
405 XHoHF S HI 8,200 1,200 7,000
01 XL 23 FH S| 8,200 1,200 7,000
OMEf&s A 2el ZH 7¢ 1,000,000& * 14! 1,000
OZELIIANASA JIE &HH 2L
3,000,000 * 14 3,000
OHMEI&X 2LHE &d 2
3,000,000 * 14 3,000
OsXZel =2 #+ 250,000& = 2CH 500
OsXzel 830 ¢ 700,000& = 14! 700
S=FAMT2EZ Y| 4,620 5,000 A 380
202 O4dl 4,620 5,000 A 380
01 =2 LHA YI 4,620 5,000 A 380
OsXNgR =L 20,000% = 3% * 773 4,620
HH 2L ZH (ST AID) 13,400 13,660 A 260
Jl23tl 13,400 13,660 A 260
JIE23l 13,400 13,660 A 260
201 LB-2d| 6,900 6,900 0
01 At 2t 2l 6,900 6,900 0
OHF AR EZHI 200,000 * 12& 2,400
OAMRI1Dl 2234l 300,000& = 123 3,600
otER=EE 15,000& * 5& » 12& 900
202 oddl 3,060 3,200 A 140
01 = LH o4 1l 3,060 3,200 A 140
OJl2ge2=8 ol 85,0003 = 9H =« 43| 3,060
203 ¥ S =&l 3,440 3,560 A 120
02 33N H 2= 440 560 A 120
OFJINH R = 40,000& = 119 440
04 NI 3,000 3,000 0
ORAN2EIRFA 250,000& = 123 3,000
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E 0 & AFHE®E B M A

S(EH) - HEAMY - BES 0 4t 04 il
6,500,000 6,500,000
6,500,000 6,500,000
6,500,000 6,500,000
6,500,000 6,500,000
6,500,000 6,500,000
6,500,000 6,500,000

,000,000& * 1Al 6,500,000
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g Al

A3 sALCAYRE SN ARED
M ote2o AFN e
Hel: DiSdsk 22l cet )
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
=T 3,580,104 4,259,267 AB79,163
S2se AEF e 830,104 1,159,267 A 329,163
Ots&=% 2el 830,104 1,159,267 A 329,163
o2+ =2 43,456 42,716 740
201 Let24E] 36,826 33,826 3,000
01 At 22l 36,022 33,022 3,000
Oget=EH| 36,022
oaHAMN La 27,922
o2RY HEE 100
oxtE Uiz 8,000
02 23224l 804 804 0
Olt=a=EAl cl gl
804,000& * 14l 804
206 M= Hl 6,630 8,890 A2,260
01 =4l 6,630 8,890 A 2,260
Ox=x 4,000
o A 8,400 » 250 2,100
o Xl 4,5002 * 200kg 900
o Al 50,000& = 20H 1,000
OfZM=8 7L 1,000& = 1,000ea 1,000
OtS&=EAl 1,630,000& = 14 1,630
tEdsE018 SEFC el 32,000 32,000 0
301 LA Z 32,000 32,000 0
1MIIEES S 32,000 32,000 0
O F2(8d) 2,000,000& * 169¥ 32,000
S5 AMERS 404,648 652,551 A 247,903
101 14 Hl 54,648 52,551 2,097
04 D12t 22Xt S 54,648 52,551 2,097
OAlgzel g 49,500 * 92 * 123 54,648
401 A& HIZ 201 8] 350,000 600,000 A 250,000
01 A& HI 350,000 600,000 A 250,000
OAIZHl 350,000
ocltsa=k =+ & OHHM==3 o0
150,000,000 * 14 150,000
ocltS&=x =Xl 2e|
200,000,000 * 14 200,000
&= 22 2% 200,000 432,000 A 232,000
401 AIEHI L 20 200,000 432,000 A 232,000
01 A& HI 200,000 432,000 232,000
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2 BALCAYEE
H:ogtego AN P
9 nsasE 2ol

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OllSd+E 222l B+
200,000,000 * 14l 200,000
OIS+ == ALY 150,000 0 150,000
401 Al HI K 201 150,000 0 150,000
01 A& tI 150,000 0 150,000
OAI&HI 150,000
SALEE HlOtE W22 &E
150,000,000 * 14l 150,000
HeeEs(a=x1t) 2,750,000 3,100,000 A 350,000
WEHHX = 2,750,000 3,100,000 A 350,000
HEHAH X = 2,750,000 3,100,000 /350,000
701 JIEtSI HSHES 2,750,000 3,100,000 350,000
03 BIILELEIIAHN2HEES 2,750,000 3,100,000 A 350,000
O+ AASESH &3
2,750,000,000& * 14 2,750,000




——
N = 0] &F AF S & AN A
A3 LT AARE SN MEGHED
HE: HRBS (M4
e LHEHHX S (2 &HH)
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
A S5 1} 3,000,000 2,100,000 900,000
THEE S (MEGHS1}) 3,000,000 2,100,000 900,000
HEAHAH XK= 3,000,000 2,100,000 900,000
LHEAHH K= 3,000,000 2,100,000 900,000
701 JIEISI HSEE2 3,000,000 2,100,000 900,000
03 2I)IHYEHEIHIN=2ANES2 3,000,000 2,100,000 900,000
Odt=ZAIE S8 AH 853
3,000,000,000& * 14! 3,000,000
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